BEALENSE - b A (2012723) SRR

K4

1. ERERX Uo>BVvUd> O ITDONTEBIZEZLEE.
(1) HEEERZIEDRIV.

(2) 4> (Bv C) LIIMETHLZLAFEIHE L.

2. 12OKRE X 2 O0m@ERE Pk), Ok, y) EUTDLES
Wegdhes, ERMICERGTSL.

X=1{0,1,2,3,4,5,6,7,8,9}

P(x) = “x 13 THD”

O, y) = “x+y 3MEHTHS”
2-1 ROBEREBRDODERZTEZGIL.
(1) Vx{ P(x) - O(x, x) }

(2) VxVy{ Px) > O(x, ») }
(8) Vady{ P(x) - O(x, ) }
(4) AVy{ P(x) - Ox, ) }
(5) Vyax{ P(x) - O(x, y) }

22%8 Y={xeX|y=x/3, 0, y) } £&T5.
(1) YDEREYZEL.

Y=

@2 2X@+1)=

yeY

3. HMBERSEREEELKS.

BB 10 RIEERL, #EBRE X o572, [ Yes |, [ No 125 %
HZEZT D, 3 NOWERE ORGEZIRD 2 SORME (a) BEOY (b)
TRDHZEITT 5.

PA,ON) = | AN Oi|/]Oi| oo (a)
RA, Oy = | AN Oi |/ |A] oo (b)
A, 0ic NxM

i IR D

N=11, 10] ¥ 1LLE 10 L FTos0ES. BIEE 5.
M= {Yes, No }

ZZC, 10 OREDOEMIIIROEEBVET S, |4]=10 ThH5.
A = { (1,Yes), (2,Yes), (3,No), (4,Yes), (5,No), (6,No), (7,Yes),
(8,No), (9,Yes), (10,No) }
PERFE 1 DRBITRD LBV ET 2.

O1 = { (1,Yes), (2,No), (3,Yes), (4,No), (7,Yes), (8,No) }
ZIT, #EBRAE 1, 6DRNCEZT0 = 6 THD. 5[ H, 6fH, 9
RIE, 10 BB b720 b)), BRNCE 2S00,
(1) An 01 =

(2 |4n 01| =
(3) P4, O1) =
(4) R(4, O1) =

(5) #ERE 21, AHEEEHIC Yes B X, B HIC No E& 272695,
HeBRE 2% B &
O =

P(4, 05) =
R(4, O2) =

(6) WeBRFE 31X, 1B O7TRIR £ T, £MIZT Yes J &I No DO &%
RTeT 5. PR 3% FHmE L.
O3 =

P4, O03) =
R4, O3) =

4. RDINYERZATEAGESLN.

ERES X={a, b, c,d, e, f,8 h, i, ), k
la m, n, o }: #!_:JILE\‘J_.%_AF%{% R ng , U={h,
i jy &%,

(B

h 1 J U®DERf={xeX | VyeU(y <z x)}
M U D RKit={xeU|VyeU(y <z x)}
k 1 m U ORI
W ={xeU | VyeX(x <y A xzy - yeU)}
n 0 U D ER=U ® ER DT
(1) UD ES= (2) UDTH=
(3) Unkkit= (4) U DR/ o=

(5) U DK It= (6) U Dk NH=

(7) UD EfR=

(8) UD FR=

(9) V={i,j, I, m,n, o} L, S=R N V2 &35, S OERITH] Ms Z~t.
(BB (n, eSS 7203, (I, n)eS TliE7au .



